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NEW QUESTION 1
Refer to the exhibit.

What command will display the debug l2mac events?

A. show module L2MAC
B. show debug terminal
C. show debug buffer module L2MAC
D. show debug all

Answer: C

NEW QUESTION 2
Refer to the exhibit.

What commands will successfully enable the SVI for vlan 100 on interface 1/1/1 to produce the results displayed in the command show ip interface brief in the
exhibit below?

A. Access-1(config)# interface 1/1/1 Access-1(config-if)# routingAccess-1(config-if)# interface vlan 100Access-1(config-if-vlan)# ip address 10.1.1.1/24
B. Access-1(config)# interface 1/1/1Access-1(config-if)# vlan trunk permit vlan 100 Access-1(config-if)# interface vlan 100Access-1(config-if-vlan)# ip address
static 10.1.1.1/24
C. Access-1(config)# interface vlan 100Access-1(config-if-vlan)# ip address 10.1.1.1/24
D. Access-1(config-if)# vlan 100Access-1(config-vlan)# ip address 10.1.1.1/24

Answer: C

NEW QUESTION 3
Click on the colored box that corresponds with the line that best represents Multicast traffic flow.
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A. Mastered
B. Not Mastered

Answer: A

Explanation: 
Diagram Description automatically generated
Blue Box 

NEW QUESTION 4
Match each network protocol to the correct default listening port and transport protocol. Not all answers will be used.

A. Mastered
B. Not Mastered

Answer: A

Explanation: 
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NEW QUESTION 5
What is true about VSX? (Choose two.)

A. VSX is ideal for Campus access layer deployments where ease of deployment is needed.
B. VSX allows upgrading members with near zero downtime or loss of packets.
C. VSX is available on all Aruba OS-CX switches except the 6300F model.
D. VSX is implemented on static port switche
E. VSX-plus needed to stack chassis together.
F. VSX run separate control planes to reduce latency and improve performance.

Answer: BE

NEW QUESTION 6
Which two statements are true regarding Checkpoints on Aruba switches? (Choose two.)

A. Rolling back to a prior checkpoint triggers a reboot of the switch.
B. Stacking switches using VSF or VSX will disable the Checkpoint feature.
C. A checkpoint is a snapshot of the running-configuration and relevant metadata at the time the checkpoint was created.
D. System-generated checkpoints are created after a configuration change and 5 minutes of inactivity.
E. Checkpoints are available on AOS 5400R switches, as well as on all AOS-CX switches.

Answer: CE

NEW QUESTION 7
Review the exhibit.
As the frame traverses from **PC-1** to **Server-1**, the VLAN tag will be removed. Click on the interface (circled in green) where the VLAN tag will be removed.
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A. Mastered
B. Not Mastered

Answer: A

Explanation: 
Diagram Description automatically generated
Port 1/1/4 on Access-2.

NEW QUESTION 8
Place the OSI Layers in the correct order. Arrange them from least to greatest, starting with Layer 1 on the top, and progressing to Layer 7 on the bottom.

A. Mastered
B. Not Mastered

Answer: A

Explanation: 
Graphical user interface, application Description automatically generated

NEW QUESTION 9
Which two types of routes can be found in the IP routing table of an Aruba AOS-CX switch? (Choose two.)

A. Local
B. EIGRP
C. BGP
D. ISIS
E. RIPng

Answer: AC

NEW QUESTION 10
Which command can be used to find the serial number of an Aruba OS-CX switch?

A. The command inventory
B. The command version
C. The command show running-configuration
D. The command show system

Answer: D

NEW QUESTION 10
Which option correctly describes a WAN network?

A. a group of computer resources that communicates between geographically separate location
B. the connection between two separate buildings in the same campus
C. a network of devices over long distances but limited to within a single ISP
D. compute resources that are networked locally over wireless

Answer: A

NEW QUESTION 15
What are two OSPF attributes within the hello messages that must match to successfully establish neighbor relationships? (Choose two.)

A. Router ID
B. Priority
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C. Hello and Dead intervals
D. Area ID
E. Process ID

Answer: CD

NEW QUESTION 19
Which switches support Aruba Virtual Switching Extension (VSX)? (Choose two.)

A. Aruba 6405
B. Aruba 2930F
C. Aruba 8400
D. Aruba 5406R
E. Aruba 8350

Answer: AC

NEW QUESTION 23
What are two primary concerns regarding layer two loops in a redundant topology? (Choose two.)

A. routing loops
B. costs associated with upgrading from copper to fiber
C. multiple frame copies leading to instability of the MAC address table
D. security issues with a redundant loop indicating to hackers that a back-door exists
E. broadcast storms

Answer: CD

NEW QUESTION 25
Which switch supports a maximum of 8 line-cards, 3 fabric modules, and 2 management cards?

A. Aruba 8400
B. Aruba 8408
C. Aruba 6410
D. Aruba 5412r

Answer: A

NEW QUESTION 28
Refer to the exhibit.

What change on Core-1 will result in a successful ping to 10.1.1.254 from the management interface?

A. Use the command ping 10.1.1.254 vrf mgmt
B. Use the command ping 10.1.1.254/24
C. Change the Core-1 management address to 10.1.1.1/25 first
D. The destination 10.1.1.254 requires configuring a static route

Answer: A

NEW QUESTION 31
What are two features of the three-tier designs? (Choose two.)

A. removes the distribution layer in favor of a spine-leaf design used in modern data center deployments
B. adds a distribution layer to free up resources from the Core for improved performance and routing throughput
C. a more scalable design over by leveraging a distribution layer to handle Layer 3 routing and access control in large deployments
D. uses only Layer 2 access on the Access and the Core with Layer 3 routing and access control provided at the distribution layer
E. is considered legacy by requiring a large flat layer-two broadcast domain from Core to Access and should be avoided
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Answer: BC

NEW QUESTION 35
Which command will suppress LLDP messages from egressing on a given port while still allowing LLDP to be enabled on the switch?

A. switch(config-if)# no lldp interface (port) transmit
B. switch(config-if)# no lldp transmit
C. switch(config-if)# no lldp receive
D. switch(config)# no lldp

Answer: B

NEW QUESTION 40
Refer to the exhibit.

What VSF command produces the above output?

A. show vsf member
B. show vsf link
C. show vsf topology
D. show vsf detail

Answer: C

NEW QUESTION 44
What is a benefit of choosing a 3-Tier design with routing at the Aggregation layer?

A. Better Core router performance by offloading processing
B. Shifting endpoint access to the Aggregation layer from the Access layer
C. Using access control lists (ACLs) at the Core to improve performance
D. Connecting WAN/MPLS and Data center access to the Aggregation layer

Answer: A

NEW QUESTION 45
Match each description to the correct management tool for Aruba AOS-CX.

A. Mastered
B. Not Mastered

Answer: A

Explanation: 

NEW QUESTION 46
What command displays information regarding the secondary image installed on an AOS-CX switch?
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A. show secondary
B. show version detail
C. show version
D. show images

Answer: D

NEW QUESTION 47
Click on the colored box that corresponds with the line that best represents Broadcast traffic flow.

A. Mastered
B. Not Mastered

Answer: A

Explanation: 

NEW QUESTION 50
Which two port characteristics must match between LAG interfaces? (Choose two.)

A. Port number
B. Duplex
C. Member ID
D. Media type
E. Chassis number

Answer: BD

NEW QUESTION 52
The following command is issued: Switch# checkpoint rollback start What is the result?

A. The command will fail because rollback commands must be issued from global-config mode.
B. The switch will revert the running-configuration to the checkpoint called 'start1 without a reboot.
C. The command will fail because it is incomplete.
D. The switch will use the checkpoint 'rollback1 as the starting configuration on next reboot.

Answer: B

NEW QUESTION 56
Aruba Access Points tunnel traffic in a campus to the Mobility Controller using which protocol?

A. Control and Provisioning of Wireless Access Points (CAPWAP)
B. Generic Routing Encapsulation (GRE)
C. Lightweight Access Point Protocol (LWAPP)
D. Process Application Programming Interface (PAPI)

Answer: B
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NEW QUESTION 58
Refer to the exhibit.

Switch-1 is not the root bridge. The ports shown are all the connected pointtopoint interfaces. What Role
(hidden by the blue rectangle) will be assigned to the Lag 1 interface?

A. Alternate
B. Backup
C. Root
D. Designated

Answer: C

NEW QUESTION 59
What connectivity commands are available on AOS-CX switches? (Choose two.)

A. netstatus
B. traceroute
C. ping
D. pathping
E. tracert

Answer: BC

NEW QUESTION 63
Which network category applies to a SOHO internal network?

A. SD-WAN
B. LAN
C. WAN
D. Internet

Answer: D

NEW QUESTION 66
Which two options are the Layer 2 protocols? (Choose two.)

A. 802.1Q
B. IPSec
C. STP
D. RIP
E. 802.11af

Answer: AC

NEW QUESTION 71
What command will save your configuration on an Aruba AOS-CX switch so that your changes automatically load on next reboot?

A. copy running-config checkpoint startup-config
B. copy startup-config running-config
C. copy running-config initial-checkpoint
D. copy running-config default

Answer: A

NEW QUESTION 74
What is Deep Packet Inspection?

A. a machine learning method of packet inspection for the purpose of choosing which dynamic routing protocol to automatically assign
B. a concept that applies to firewalls, when examining packets only up through Layer 4
C. a function of Policy Based Routing that examines the entire IPv4 header to forward traffic based on factors other than destination address
D. a firewall process of examining the packet header all the way to Layer 7 in order to determine if the packet should be permitted or denied
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Answer: D

NEW QUESTION 78
Which two options are the Layer 3 Routing protocols? (Choose two.)

A. BGP
B. LLDP
C. OSPF
D. MPLS
E. 802.3ad

Answer: AC

NEW QUESTION 82
Which two statements accurately describe stacking with Aruba switches? (Choose two.)

A. A VSF stack is allowed between an AOS-CX 6300M and 6300F switches.
B. VSF is a core or aggregation layer stacking technology due to the high resiliency of sharing a single control plane.
C. The VSF feature is not compatible between AOS-CX and AOS platforms.
D. A VSF stack is allowed between an AOS 5400R and an AOS-CX 6400.
E. VSF and VSX are stacking option with the AOS-CX 8320. 8325. 8400. and 6400 models.

Answer: BE

NEW QUESTION 87
......
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